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1 Six numbers are arranged in decreasing order. If the average of the first five numbers is 40 and the average

i i last number is:
of the last five numbers is 30 then the difference of the first and the _ L .
e TS 1 s T S T afs el uie g i e 40 2 3R arfalt gie Gt =1 3igd 30

2 3 vt 3R SAfad FEATS & AT -
A) 25 (B) 50
© 75 D) %

(E)  Question not attempted / Bf{figﬁf{?f uq

2 A loss of 25% occurs on selling an article for ¥ 1,800. What would be the profit percent if the same article is
sold at ¥ 3,200? : )
T TR T 1,800 F 3 W 25% i w1 2t 31 afe 3w g 12 3,200 3 T ST &Y A ST ST A e
(A) 25% (B) 35%
© 30% (D) 3-31?%-
(E)  Question not attempted / ﬂﬁfmﬁﬂ
3 The diameter of a garden roller is 2.8m and its length is 4m. If it takes 5 revolutions in 30 seconds, then how
much area will it cover in 5 minutes?
(A) 1760 m* ._LB( 1440 m?
(C) 1860 m? (D) 1540 m?
(E) Question not attempted
T T AR 1 ST 2.8 X ST e 4 e 2) =T 7 30 Fe A 5 AieHHu R Har e, 1 5 forre F 7 R
EAB qF HUT?
(A) 1760 Hiew® (B) 1440 Hee?
(C) 1860 it (D) 1540 e
(E) Fuiayd
4 Digilocker is a flagship initiative of which Ministry?
(AY. Ministry of Education (B)  Ministry of Finance
(C) Ministry of Electronics and IT (D) Ministry of Commerce and Industry
(E) Question not attempted
fefreite foma viarera i s gea &7
A) frmdmE ®)  fore ey
(C) e ud T A HEe (D) =TT C& a0 warery
(E) Igaia 9
5

Where is Rajasthan Atomic Power Station located?
Choose the most appropriate option from below:
(A)  Suratgarh Maran
(C)  Jodhpur (D) Rawatbhata
(E)  Question not attempted
TETET T St e et fevrer 2
ot € T I foe i
(A) 33"; % R
(c) 3 TIAYTEr
E) Hﬂaﬁﬁa uaq
RI15] @) *
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Which is not the key vision area of Digital India Programme?

Choose the most appropriate option from below: 3 fg

(A) Digital infrastructure as 4 Ebre utility to every citizen : Y6

@BY Govemance and service gh’demand : ;g

(C) Digital empowerment of gifizens . &a _

(D) Promotion of behaviouratﬁnanges of citizens S &y -

(E)  Question not attempted St hal SN e MY L0

A “Fefireer dhar T mgaqrzaarq-ﬁ%o 5365 3ein de' i oo B o

=1 & & wad sugw fames g ) : RN

(A)! mm%mmmﬁm%mﬁ%ﬁmaﬁaﬁm &)

(B) ; £

© by
‘© o

®) Al

..('J
:\&‘}

What is the minimum quorum ﬁ.ured for a Gram Sabha meeting under the Panchayatx Raj system?

(AY One fourth lﬂ B (B) One sixth

(C) One eighth pel (D) One tenth R

(E) Questionnotattempted AL vy
| wmﬁwmw%mmw%m%mmmwmw%ﬁ

(A) THEE \o : (B), AT i

(C) i ¥ o o x.;:,i.r‘dm 4

(E) mﬂﬁm‘r ' gl\ / : T ¢ ;

On which date second' stage Rai,aqthan Union: (Present Rajasthan) was formed'?

- Choose the most appropriate opuon from below: % ; .

(A) 17"March1948 ) = (B;/ 234 Mo ; 349

(C) 18™ April 1948 Lﬂ' P (D (D) 30" March I
Question not attempted

t(zwﬁw (@ TSTEA) m@nw%&rﬁﬁaﬁnﬁaw‘

T 3T BT T
ﬁqﬁauﬁl%s TN (B) 25T 1948
I(C) i;aﬁ-ﬂ%s ’-'5? (D) 30T 1949
(E) i o "

AC(:(“(I[ 1 t(l 2,{) 1 5 Wh C (Ij ﬂ 1€ hl l Wl fl] I] l(:l l than llas thl’;‘ l“\ e I .: (]. I.lld[IOI'l dcnsl[y-

) £} (B) Jlaisalrner :

(&) Bikaner L0y (B’)/ Pali R
(C) Barmer (e’ ’ ?.‘ |
) ﬂ?“csnon n;t anun[pmd CF 5 & roreart 3 g foret A SEEAT 9 Fe A ? ;

T ™ :
@ L) (D)
(€) @M= -

5 w4
(E) 5



~ Which of the following statement is mot correct about alluvial soil in Rajasthan?
(A) This soil is found in northern and eastern districts of Rajasthan.

(B) Itis light brown red in colour and has a sandy and loamy texture.

12

13

14

R15

) Itisa fertile soil.
(D) Tl:ns 501l contains enough quantity of nitrogen.
(E) Question not attempted

. TR AT e A et S A e wE w2
 (A) T8 U TSI % TN ud e el § o STt 81 (B) WWWWW%WWWWW%

(C) . T8 T U1 a7 2l (D) SATRETH # qrggrer <t watw T Al 2
(E) <A yg
If ¢ PARK’ is coded as ‘5394°, ‘SHIRT’ is coded as ‘17698 and ‘PANDIT" is coded ‘532068’ then how
would ‘NISHAR’ be coded in that code language?
If% ‘PARK’ & *5394°, ‘SHIRT &' ‘17698" 3R ‘PANDIT’ & ‘532068’ Fifeq AR STar 2 @ ‘NISHAR' &
I T Wt T Fifed ferar s
261739 , (B) 261789
(C) 231054 (D) 266734
(E) Question not attempted / STTaIG ¥4
Find the missing number (?) in the Table:

2fae # 9w @@ (7) F1a -

2 1 6

4 7 2

8 5 11

30 | 34 | 2
@) 15 (B) 16
(©) 17 ®) .20

(E) Question not attempted / ST S

Which of the given options will complete the given series?
ﬂﬁﬁqw%ﬁﬂﬁﬁ&aﬁ?ﬁ(ﬂtmaﬁmﬁm

gfe ig_eii_fei_gf 1 :
(A) cifgi : ®Y figie
(C) ifige, D) ifgie
(E) Question not attempted / TTAIG T
Match List-I with List-II

List-I (Indian player)

- List-IT (A
a. Mirabai Chanu C Ol Gymﬂaétlcs:omated e
b Dipa Karmakar - . Weightlifting
C. Hima Das .  Archery
d.  Deepika Kumari V. Athletics
-1 7 foreT g=h-11 & | hifv
vaﬁ I (Wt Raereh)
a.  HREEEE i ﬁﬁgaaq L
b.  drurmiET : ' i, YReeR
c. feargm iii. e
d. it Famt . iv. wySfag
Choose the most i .

appropriate option from below:

e dgaw HAH U7 faereq =1 = i

(A)  a-iv, b-iii, c-i, d-ij ' (B) TR

(©)  a-, bHii, c-ii, d-iy ' A-UL, b-iv, c-ij, d-j
(E)  Question not attempted / sy ys D) a-ii, bei, ceiy, dog

I @
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India delivered the first consignment of ‘Brahmos Supersonic Cruise Missiles’ to which country?
(A)  Nepal (B) Bangladesh
(C)  Philippines (D) Bhutan

(E)  Question not attempted

WA 3 FRIT G e s e & ueelt @ forg 2T w1 Fid?

(A) Hure (B) wiERS
(©) forefdia (D) &M
(E) A7aRd w4

Which Indian player won Bronze medal in the R2 Women’s 10m Air Rifle SHI event at the Paraly‘mplGS,
2024.

(A) Mona Agarwal ‘ : (B) Avni Lekhdl"d

(C) Bhagyashree Jadhav (D) DEEpthl Jeevanji

(E) Question not attempted
{8 _grﬁﬂ?ﬁaﬁﬂd’f?rmmsﬁm ?

m ,

(A) T JTET
(C) wrast ST
(E) oaf@ws : _
‘VAIBHAV’ Fellowship Programme is implemented by which Department of Government of India?
(A) Department of Science & Technology (B) Department of Social Justice

(C) Department of Economic Affairs . (Ql Department of Revenue. '

(E) Question not attempted ° '

‘S Fefig ey g % e o g watfaa fen mem

(A) o wE s (B)  GreTfores = faemT
© Inifele AT w1 favmr i D) T o
(B) gafawd :
‘PPP’ in terms of Gross Product stands for :
(A) Purchasing Power Parity VA % (B,)\ _ Public Private Partnership
(C) Purchasing Power Price (D)  Public Partner Price

(E) Question not attempted
Hohe] ICUTE o e | ot dit di” =1 37 &:
(A) 3T Sifeh GoaT(Purchasing P
(B) WESIe f4sit &9t Hrferi(Public Private Partnership)
(€) s A (Purchasing Power Price)

(D) s WFfER J&(Public Partner Price)

(E) oHuia 99

Which of the following is not an exothermic reaction?

(A). Formation of slaked lime on addition of water to lime’
(B) Buring of natural gas .

(C) Respiration
(D) Decomposition of calcium carbonate to calcium oxide and carbon dioxide

(E) Question not attempted
o= & & 399 © va Seadt 3IfIfRaT(exothermic reaction) &Y 87
(A) =¥ F ST Sre W gE 9 o i
(B) ma:ﬁﬁaﬁi:r HTEA
©
D) %ﬁmmﬁzaﬁr%ﬁm mawmmﬁm

(E) rgEiawd

[PTq
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on not at

P T el LT

(E) AR "
Select the bacterial spet

(A) Spirulina
© Trichoderma p

yen in the presence ofni

)y "'ydrocarbcm
Graphite

(D) W

ckel catalyst form fats. Thisisan €
(B) Substitution reaction
(D) Oxidation reaction

gEft-11 (qataaT=)

L WA 29
L g

n. 9=

v, el

B) a-IV,b-1Il,c-MI,d-1
(D) a-Lb-Mc-1Ld-1V

290653

xayriple of .

15290653

15290653

[ P.T.O-
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28

29

30

31

Frerferfae # i = ataaT 8-

A} T4 (B) 31

© fas D) f&=

(E) SgaRaysd

If m and n are the roots of the equation x> + px + g = 0 , then what is m* + n? equal to?
Efﬁ'maﬂtn;f+px+q=0‘€ﬂﬁma?ﬁ§_‘f§?ﬁmz+nzﬁﬁ¥ﬁ?w:%? .
(A pP+24 ®) p*tg |
© p-24 ®) P-4

(E) Question not attempted / 3TTART T4

Ajay invested a total amount of ¥ 10,000 in two types of investments. The first part of investment yields a
simple interest 6% per annum and the second part of investment on 10% per annum. If the total interest at the

end of one year is 7% per annum at simple interest, then the amount invested in each investment is:

151 3 4 W o TR 3 F@ 2 10,000 7 Erver R =l a8 RIS T TR T 6% Widard ol & § W s

T 3 PRI ST A I 10%6 et <hl G & Ao SIS 9T e, ST T A 3 i SN T AT 7% WA
ST T BT S, A v e i forere 3 s T @ '
@y %7500;F 2500 (B) < 7000;% 3000 |

(C) <X 7300;%2700 (D) T6250;% 3750

(E) Question not attempted / TR T k
Which two signs should be interchanged in the following cquation to make it correct? \
20+5+20x8-20=38 '
(A) +and x (BY -—and+t .l
(C) +and x ®) -and = !

FrefrRa T S GE T & U Tal T A1 el A ST § See die?

(E) Question not attempted
20+5+20x8-20=38 ]

(A) +3Rx

© =3 |
(E) Iqafa s : (
When was the ‘Agnipath Yojna® introduced by the Government of India?

(A) 15 July 2021 (B) 14 August2021 }
(C) 14 June 2022 (D) 14 August 2022 |
(E) Question not attempted H
T TERR T AU ST 3 16 bt 715 22

(Ay 15 2021 (B) 14 37T 2021 )
(C) 14572022 (D) 14 3TTE 2022 |
(E) Sigaia v \

In Rajasthan, what is the amount payable every month to unemployed educated girls under ‘Mukhyamantri
Yuva Sambal Yojna’ ? \
|

Wmﬁ‘W@mm’%ﬁmﬁ%Mﬁmwmh@ \

Choose the most appropriate option from below:

et 3 & gad Iugw foee I
(A) ¥ 3,000 (B) ¥ 3,500
(C) 7 4,000 (D) 4,500

(E) Question not attempted / STFTRT %%

RI5] @) 7 [ PT.O.




e s
32 Which of the following projects of Rajasthan provides hydroelectric power?

(A) M?‘Pll Bajaj Sagar Dam (B) Jawai Dam
(O) Swgrioop Sagar Dam (D) Uchha Dam £¥)

(E) Question not attempted

ummﬁ'ﬁw%%aﬁﬁﬁqﬁwﬂtﬁwaﬁﬁgﬁwﬁﬁmmm?%?

nréf‘mwm (B) SEEEY &
(C) a'ﬁcr‘qm'{ Y (D) ST A
(E) rgaiawa u:
33 =it whifeasemn 8 s aegiw & g o wsk -
G B &
© (D) feefrat T
34 ﬁr«rﬁvrﬁaaﬁwrﬁw% Jiqrta At 317al- rj;
(A) ﬁ‘FEF = A (B) ufte O
€ T (D) STTHRH i{;
(E) 31%%1’{?1'3% '
i} i}
35 1PB (Pctg_}_:;yic) is equal to:- T
(A) 1022 TB (Terabyte) (B) 1024 Bytes  if
(C) 1024]MB (Megabyte) (D) 1024 GB (Gigabyte)
! (E) Qu%st:on not attempted g
3‘ 1q‘Ta‘r(ﬁgm;T3a arlat% i3
| (A) 1024721+t ) (B) 10247mwgd i
| (©) 1024 TH St (WIEITSE) (D) 1024 Sfrsft (fmmemse)
\ (B oSHaEau &)
\ iy i)
L L

36 /Aﬁer mterchangmg +and —; 8 and 7, which one of the following equation becomes correct?
## waiin— @m 8 aﬁr?ﬁwmﬁ%mﬁmﬁﬁaﬁﬁaﬁwmmaﬂw
(A} 8€9+3x5=35 (B) 7x8+6-9=25
©) 6ﬁxz T=0 (D) 8x2+7—6=?ﬁ
(E) Question not attempted / ag?rﬁ?r ¥4

. ) .
37 A certain &um of money amounts to ¥ 7,464 after 4 years and ¥ 29,856 aftcri8 years on compound interest

The value f sum is: ﬂ“
t @ﬁr*fﬁm W@meﬁ%m?74643&86&%611&'?29&363}31?&% a’rmnﬁw'rm%
(A) T3732 (B) 1,866 cn
e = 9;% (DF 237320 qY
(E)  Question not attempted / SRR W ]

R Q ; . 710



38 A bag contains coins of 50 paisa, 25 paisa and 10 paisa only. The ratio of number of coins of 50 f)‘E'iéga';:, 2
25 paisa, and 10 paiszg,_:i§ 5:8:3. If all the coins in the bag amounts to ¥ 144 then the number of coins 0?"3
25 paisa 'in the bag are; P 7 \ /
s A § Faer 50 44, 25,98 3i 10 ¥ 35 frdr 1 50 3, 25 4 ok 10 & 3 Rt < ST ohr ST 5:8:3
R 4S5 o Ry a2 144 8, 9 9018 25 w1 R o g A W@
(A) 150 (o (B) 240 -
(G) 260 € (D) 280 &
(E)  Question not atl’ét;ﬁptcd / AT o= {g-
(. ]
39  Which of the following in spreadshect is a method of arranging the data in ascending or dql;iéending order?
(A) Filter £ (R) Sorting
(C)  Auto Sum £y (D) Logical operator
(E)  Question not attempted £
Frfoifas & & = a1 wievie i st smierar s o & safim T < U foref &1 14
(A) 'ﬁb—(‘,a'{ {:}\_; .. ;,— , : i@
©) JTer L] 5 (D) €
B) sgafaws o Uy
40 Which of the following:ié a system software? &
(A) Excel (B) Power point g‘ﬁ
(C) MS word " (D) Linux |
(E) Question not atten pted
e 3 & =i fien digeaan &7 )
(A) UFESA (Excel) ¢ (B) WEtUEE Eg
©) wWwaE &y @ =
® T O &
41  Which of the follou&n%ﬁjﬁﬁnler is noiseless, high speed and of high quality? %
(A) Typewriter ; (B) Dot-matrix Printer ol
(C) Inkjet printer ()  Laser Printer
(E) Question not attgn}pted ¥y
Frerfafiae 3 & w1 e e, e aer, Swa iR Sicges v AT 87 16y
@) TEEEE D c S sy
() wHEaefier © ©
@) omuRaws 4
42 Which function key is ﬁ;é!éd to edit cell contents fn spre‘adshera‘t? ?‘3
et w2 e et R P SR s A )
b (B) F2 . L
(A) F5 :
© 6 (D) F8

(E) Question not attF_n?ptcd | g
43 1f 12 boys or 18 girls carijdo a certain work in 14 days, then in how many days will 8 bo)’:i_{l]ld 16 gicls g "
e

trs
same work? L

af 12 e e 18 wreferal fehey s e 14 fell B g e EeRd €, 8 s we 153—@@-‘@“@%
ot 1 g H1? O o)

S5 ® 9 o
. \(} ®) 13 1y
© 11 )

-4
(E) Question not attcmpted / T S840 , I
e [Prg
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45

46

47

48

49

In a triangle ABC, AB = BC and length of AC is J/2 times the length of AB. If the perimeter of AARC s
a ]

,th nlhcareaofAABCis— |
L:%;aﬁf\;“én&,em _ BC 3T AC #T daS, AB T T als & JZ T ¥ A AABC T vy

2

(14+7 Y2) 2 & AABC I 876 © -
(A) 59 cm? B e

2

Q
B

-
N‘m MI@

(C) 69cm’ (D)
(E) Question not attempted / Faia g

If PQ || RS, then find the value ofa+b+c
7§ PQ || RS, @ a + b + ¢ T AH Fid &L

P o—

Re

A) 180° ®) 270°
(© 360° - (D= 280°
(E) Question not attempted / ST T

Choose the most appropriate passive construction of the sentence given:
Everyone knows the facts of the case very well.
(A) The case is known to everyone very well.
@) The are very well known
(C) Everyone is known to the facts of the case.
(D) Everyone knows the facts of the case.

(E) Question not attempted

Choose the most appropriate articles to fill in the blanks, where applicable:
It is pleasure to do business with such efficient organization.
(A) x,the,an (B) a,the,a
(©) a,x,an (D) x,x,an
(E) Question not attempted
Choose the most appropriate option to fill in the blank:
student in the class passed the examination conducted in the month of April.
(A) Al (B) Every
(€) Very (D\ None
(E) Question not attempted
A’ T AT T 37
(A) a_f‘F" . B) EREivE
(©) %5 S D) fag

R15] @ 10



50

51

52

53

54

35

36

ﬁm%ﬁaaﬁaﬁq‘wmgﬁmqﬁ%?

(A) Ay B =R 3,
(C) i 1y (D) T a;g
(E) Sqafa@wy : ©
Choose the %st appropriate English translation of the given sentence. ¢}
T T U &y
(A) Why@h,e is weeping? (B)  Why is she weepling?

(C) She \Q.:h;,r is weeping ?

(D)  She is weeping Tv"»"“l%y?
(E)  Question not attempted ' '

Choose theGnbst appropriate reported form of the given sentence:
He said to ﬂﬁ%,”ls your name not Robin?”

(A) He inguired whether his name was not R
(B) He asked if the name was Robin.

(C) He Sii% that wasn't his name Robin

(D) He ag.k('ed if my name was Robin,

(E) - Questign not attempted

Choose the most appropriate option to fill in the blank:

When my friend came to collect her books, I was a little embarrassed as in
books that I'had borrowed. :

15280653

L}
(A) read (o (B)  will have réad \53
(€) had rﬁﬁl - (R)  have read %:
(E)  Question not attempted ! &
Choose the #ndst appropriate option to fill in the blank: s
The police éfficer stopped us and asked us where F e
(A)  werewrd going (B)  are we going
(@ weare going . _
(E)  Question not attempted 2 €y

Which minf;gy launched the ‘Capacity Building on esign Enircpren
(A)  Mini$iy of Finance
(C) Ministfy of Defence

E d . %
1'(%1?:111‘:1?;:: %%I;;tg?gﬁmmmﬁw (ﬁﬁﬁﬁgﬁnﬁﬁqm%ﬁ')w
A) e (B) T U
EC; m%a ®) TEwEE v
S ity ISRO? '
Which of the following is not a space mission launched by ) )
(A) Charfdth ' (B) Mangalyaan j¢4
© A d%.lts"ﬁylaan (D) Space-shuttle prggramme
1 . Q‘
(E) Questf{gn not attempted ' ) o 4
ﬁnﬁﬁﬁ%mﬁusnmmmﬁmwwﬂ&igﬁﬁﬁ &
(A) 5¥ _ (D)  siafe mﬁlﬁﬁr (99 1)

(©) L1
(E) i'SI"EI

Ris) @ 11

only one out of the five

[ PT.O.



57  The main function of a GPS system is:

(A) Weather forecasting (B) Navi gation and positioning
(C) Satellite imaging : (D) Space exploration
(E) Question not attempted
S, ﬁm(GPS)mwn@m%- . : _
(A) HEEgEiEe (B)  regar (i) ST e @ gar e
(© T g _ - (D) SHafer =TT
(E) offaRa g
58  The name of global satellite-based navigation system developed by the United States is
(A) GPS : (B) Galileo
(C) BeiDou . : (D) GLONASS

(E) Question not attempted
ST (US)mﬁmﬁaﬁwﬁﬁmm SreTiea AT (?rh?mq) ST =BT 919 &:-

(A) GPS - (B) AhfeE (Galileo)
(C) 2T (Bei Dou) : : (D) TEFME(Glonass)
(E) Sguiauy -

59  Choose the most suitable word to complete the sentence given:
A person who settles disputes/disagreements is known as an ' ,
' (A)  Altruist | :
(C) Anarchist
(E) Question not attempted

60  Choose the most appropriate word opposite in meaning to:
CHIVALROUS

(A) Gallant
(C) Defiant
(E) Question not attempted

(D) Brave

61  wwrive: wm iy Rrede 3.
(A) IFF+a@e L o
: (B) HEI+4UE
(C) W‘ﬁ-?ﬂhﬁ g (D) 3""331'&'3
(E)  tufia wor | '

2 P e e s,
(A) fa: + e g
) H+= B) fr+3
(E) & ﬂﬂiﬁ'ﬂﬂ (D) Eﬁ + Y

% e ; 1) <o
e ®)  Pravh

RIS] @ 12

EERUSUE T )
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Which is the fastest train in India?

64
.(A) Shatabdi Express (B)  Gatimaan Express
(C) Duronto Express ()) Vande Bharat Express
(E) Question not attempted -
(A) TS TR (B) T e
(C) T TR (D) =R I wHdE
(E) Ry '
65  The Supreme Court has ordered the Rajasthan Government to shut 68 mines operating within a 1 km
periphery of the critical tiger habitat of which tiger reserve? )
(A) Dholpur-Karauli Tiger Reserve (B)  Ranthambore Tiger Reserve
(é) Sariska Tiger Reserve (D) Ramgarh Vishdhari Tiger Reserve
(E)  Question not attempted * i = o
Tl AT ¥ TSTE TR H) PR T ST o eI T 1= 3 1 fieiviet 3 2t # 7o o 68
GEHI 1 e 7 F7 32 Ry 2 .
(A) g Kl o fo (B) TR e ferd
(©) wifEH TR ferd (D) T fereurmdt 2rge st
(E) Srgaia s
66 §2T+-§4!—+—76—!+ ...... is equal to -
-327+7;T+~;§—,+ ..... ? T - .
A) e o ®B) 2
© % E D) &2
(E) -~ Question not attempted / Gilgﬂﬁ?l' e . .
67 . The perimeter of an isosceles triangle is 32 cm and length of each of the equal sides is’ % iirpes of the length
of base. What s the half of the area (in cm?) of the triangle? '
G Fufzarg frper it wfem 32 a6 3 SIS ot STAY <fr rsird ST o S T 2 o 21 g 3
BT T STHT (@2 ) 29 = : '
(A), 38
©) 48
®)  Question not attempted / ST 54
8 Freff i g g e 2
a g
I S
A CiE
d  uoEh
:ﬁfﬁw&m—ﬁ # & gaffas gugew oI WO S——
Eg)i E;Eﬁz D) b, o s
Ris !m 13

[ P.T.0,



frmfiaa # vy ferfa T 2-

(A) T F GHE vl €l (B) I% & €W & gl 8l
(©) &wer I AR D) gﬁm_@r%ﬂ'@n
() SETRTA W
13 : ' I

70 e TTET IRTa o wEl 3T B- _ _ Gy .
(A) T f S (B) 23Ry
(©) i & (D) TARIRAT
(E) aqjji?&rw ' = ot '

71 et e e e e e e o e R et e B

(A) i B e ®). T G
(C) wnde fora | (D)  HehHF (T
(E) ar;‘;frfmw | | h
72 Which of the following view shows margins and the rulers? | L
(A)  Réview _ . (B) PageSemp
(© Paige'fLayout : : (D) Normal View '

(E)" Q&ggtion not attempted
Frfafas § & <9 91 599 (=) SR 3 FH (Rulers yarr gaifar 22 €

(&) R (Review - (B) W Page Setup)
© ) A3 chyu_ti - (D) Hrfer (N {Bnal)%
73 Which a&%ng the following keys is used for checking grammar angdgspelling in M.S. Word?
mmﬁgmﬁmﬁm%mmﬁamwﬂmmm@
(&) Fonl- (B) F3 = '
o | =
©) ¥ ; ' -.r-mi*g
(E)  Question not attempted / ﬂa%lf(awﬁ - — () ;
74 W}'“’h;{_;}‘ie following is an output device? : O
i i B) Keyboald?
(&) Pe.f}“’r ' (D) Joysticka“
E) Question not attempted ' (Y
'?‘*‘ﬁ‘fm HTSeYe feamea & U}
ng g (D) Srfes
; ' ™)
When di{iit‘c PortuBYese take over Gopo' t{f;
75 pon ’:F it SATIF &y gy b
(A) '?‘;Z‘ M) 1510 g‘}
Eg égeétion not atiempted / ST gy (D) 1526 113
i v
R15 | @ " : 14 [P.T.O-



76  Which one among the following is not a salient feature of the Indian Constitution?
Choose the most appropriate option from below:
(A) Lengthiest Written Constitution (B) Dual Citizenship
(C) Integrated and Independent Judiciary (D)  Universal Adult Franchise
(E) Question not attempted
ﬁmﬁﬁﬁ%ﬁhmmﬁhﬁ%m%hﬁ@ﬂ&%ﬂﬁﬁ?
P & & et sugen e
(A) w8 S fRae Ry (B) ety Amftemar
(C) Thihd IR = =rmurfarr (D)  weifires =k warfir
(B) ATafaws

77 Choose the word most similar in meaning to the underlined word in the sentence:
The acerbic remarks ofthe boss Wwere unwarranted as she had put i alotofeffortin preparing the presentation.
(A) whimsical ) b
(C) appreciative (D) childish
(E) Question not attempted

78 Choose the word most similar in meaning to SPURIOUS from the options given:
(A) soiled (B) incessant
(©)  unauthentic ‘ (D) considerate
(E)  Question not attempted

79 Inwhich generation of microprocessor *VLSI’ chip (32bit) is used?
(A)  First (B) Second
(¥) Third (D) Fourth
(E)  Question not attempted _ -
Wﬁﬁﬁwﬁﬁmﬁﬁﬁ%Nﬁﬂwﬂﬁﬁnnﬁmmmﬁhﬁmmﬁm
(A) wemy (B)
©) g ®) =
(E) e g

80 Choose the odd one out from the given options.
TRU oraeeit % & e Rrepeq W e :
(a) (1, 143) )
(C) @, 35) (D) (13, 195)
(E)  Question not attempted / mﬂﬁﬁﬁ 5

81 Pinki scored more than Rakesh. Yami scored as much as Dimple and Lalita scored less than Manjy, Rakesh,
Scored more than Yami and Manju scored less than Dimple. Who scored the least among the gjven Persongy
( A) Rakesh (B) Lalita
©  Yami (0)  Masju
(E) uesti : d .
magﬁﬁtﬁ;&iﬁ;ﬁeﬁmmmm%mmmi 8 9 S ST R T
PP et & s e i P 3157 e
(A) Ty (B) m
© It (D) A
® et g

R1s) Q 15
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" Pointing towards a girl in the picture, Sunita said, “She is the mo}thﬁer of Neelam and Neelam’s father ig my
son”. How is Sunita related to the girl in the picture? P

(Af "’ Daughter (B) Misoo, .

(C)l.:;é Sister (Dl M othc:__}'_-_—:_ in - Law

(E)-f;} Question not attempted

£3%

i) e et B S g e g e o, v s B S & S A 5 st g i

Fore e e B e & i 27 ok
(Ay— A (B)  wiSH/TsIt
(©), . e D W .
(E), - T s i
gy e i
G 0
83  The main components of dettol are - 3
AH Chloramphenicol + Glycerol (B) 2-3% s\_g]g:tion of iodine in alcohol
(G 0.2% solution of Phenol (D)  Chlordxylenol and Terpeneol
(BE) ijuestion not attempted )
e F U TTHE - -
(A) TSNP + Fermie
(C)}gﬁﬂia 1 0.2% o=
(E)@N‘:ﬁﬁﬂﬂ’:{ , -
84  Sclgtt the most appropriate statements about human insulin. ra:?i
g a; Human insulin is made up of two short polypeptide €hains.
iyb.  Two chains are A and B chains. Wi
={c. Two chains‘are o and ¥ chains. v
d.  Pro-hormone contains exira stretch of C-peptide.
o C-peptide is present between two chains in mature form of human insulin.
Choose the most apprapriate answer from the options given below:
(A).'."g}. 8 G euceaaly - B) 2 bande only
(C)fiﬂ, g d.m._i_!y D) a,b, d.and e only
(E)}’z Question not attempted ;v,:
vy 3T & 6 T e shery o < L_s
fa. R S ehiveres st o i 3,
b, @ HECTSA SR siaemt § y
o AL Y ey 0
(o wgei Gl dc. = tfifes woe ;;‘élm%
(e, T T ot et e o

: £
B ki S b

(Af; ST 8, C CFI:TTZ B)  Fae J,ﬂi R e
(©) e, b 3 ®)  Fr i, g sice
(E) : araid 34

16
RIS| @
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gs 2Mg+0,—>2MgO
In above chemical reaction, the Magnesium metal is
(A) Reduced ,

1) (B)  Oxidised
(C) Dissociated,

(D) Displaced il
(E) Question not attempted $6%
2Mg+0,—>2MgO) ‘”
S O Ty o, e omg iy ¢
4 =ERE @) i 4
(©) TS (D) foreenfua i
(E) STIHIE ety vt

86  Which of the folloying statement is incorrect for a chemical change?

(A) A gas maybe evolved. (B) Heat may be produced but never absorbed:” }
(C)  Sound may be produced. (D) A colour change may take place. oF
(E)  Question fipt attempted L3
T T ey o fore Fot & & wiv ar s vl e 2 X
(A) THTGIEa e gadiel _ &y
®) e wad b v s &
(C) =ty I & wehehl @1 ' Ty
(D) T uftar 2 Hehar 21 v
®) et i)

87  Honeybee cultures called- v
(&)  Silvicultugey (B) . Apiculiure Hqé
(&) Sericulture'? (D) ' Lac culture Len
(E)  Question hot attempted ?}
Wwﬁﬁaw 2 e ;’“’
(A) Toedieat o (B‘?‘J Loy g;af;
©) VbR (D) T (CTRE) FeeR o
(E) aﬁﬂﬁ?rwg,»}

88  The correct sequifice of different steps of polymerase chain reaction is - _
(A) Annealing£2> Denaturation —> Extension (B) Denaturation —> Extension —> Annealin o
(C) Denaturation — Annealing —> Extension (D) Extension — Denaturation — Annealing ¥’}

{‘g"}
(E)  Question Eg} attempted \0
if ' - s
f s SR B fafareT Ul 1w A | 5
(&) hfiir — i — FET @) Fifior — sEw — whf i
©  Fiftsmor > i — e @) frear — Fifsror — e 2
e ¥ rsion of the Indian Constitution was done by

The Calligraphy;of the Hindi ve (B) Nand Lal Bose '
(A)  Vasant Ktishan Vaidya

(D) H.C. Mukherjee ¥y

(C) A.V. ThakKar in

(E) ' Question fiot attempted gr forar T A WO
e e ey e 1 I =

(A) e e (D) T st (3

©) T aaaa'“cri 3

B)  sefaws
RIS O N i | BT,

. e e A ———.



90

91

92

93

Who is the present (as on 01 September, 2024) Chief Minister of Rajasthan?

(A)~" Bhajan Lal Sharma (B) Vasundhara Raje

(C)  Ashok Gehlot (D) Bhairon Singh Shekhawat
(E)  Question not attempted

TSR & A (01 e, 2024 % ) wemish 23 29

(A) 9 <1t It (B) FGIT T

(C) 3 TEad (D) N Rz SrEET

(E) TguRawd

The temperate forests called ‘Sholas’ are found in which of the following state of India?
(A) Punjab (B) Rajasthan

(CG) Odisha (D)  Tamil Nadu

(E)  Question not attempted

AT AT St o=, FrafaRaa & &, e e 7o 3 o St 2

(A) 9siE (B)
(C) onfesm (D) af
(E) Sqaid 9%

Which of the following statement is most appropriate about the Himalayan Rivers?
(A) Nature of flow is seasonal and dependent on monsoon rainfall.

(B) Catchmentarea is very large.

(C) Their place of origin is plateau.

(D)  They flow through the fixed course with well-adjusted valleys.

(E) Question not attempted

femrer afielt 2w frmafRefan # & e ot vt s 7
(A) TS < ey s & e st et e P e

(C) AR 357 T 93K g

%] amm%mmmﬁﬁ%wgﬁﬁmnﬁ&m%l
(E) TR

When the prifary tributaries of a river flow parallel to each other and secondary tributaries join them at right
angles, the pattémn is known as

(A) Trellis (B)  Centripetal
(C) Radia (D)  Dendritic
(E) Question not atlempreqd

e 1 T4 A st 1% W afeat, v e 3 e sl @) s Rl e Afeart Iy weentr o e

1 e s i 0 A B
w1, @ 38 Wl

Wy A 1) shvaEd
(Cy =i (D) gurglaes

(B)  #rwitd 94

RIS| @) 18 [ P.T.O.



94 Whose disciple was Dhanna?

(A) Kabir (B) Pipa
© Ramana?gi (D) Dadu Dayal!}
(E) Questionmot attempted e
a) O ®
© TEE= O) ' (D) ==
(E) Fafa g h ; _
95 In Rajasthan, u;ggmng a gold nail in the middle of the teeth by a woman is called:-
(A) Damna (B) Borla i
(©)  Choonp ¢ (D) Baari = ¥}

(E)  Questionmot attempted Tﬁ
T 8, wq%mmm%mﬁﬁﬁamm% é}i

(A) Fmar O ®) @reT i
© % g , © A g
(B) =gafa :

i
96 Tropical thorny | fF rest is found in which of the following regions. of Rajasthan?
Choose the most appropriate option from below:

(A) Udaipur (By Jaisalmer jﬁ
(C) Baran ¢v )t (D) Kota ;“ﬁ

(E) Questiofibt attempted
SuehfEsrelie AT 3, Teer o frefiad 3§ g o s qro s 8
= o & wear Sages e

(A) TR
© = O
®) sreha i

97  “Kolayat lake”?situa’ted in which of the following place of Rajasthan?
(A) Bikaner : ©(B) Udaipur ##}
(C)  Ajmer _ _ (D) Chura %
(E) Questiowt attempted iﬁ?
AT ST g@w%ﬁqﬁﬁ%ﬁﬁé%awﬁﬁw%? &
(A) a"l%"f—‘lt (B) IR i
C) IR 61 ' ® T e
(E)  swqafer e K}

98 Babool, Khair 4fid Khejri species of trees are found in which of the foﬂoimng forest lands?
Choose the moStappropriate option from below:

(A) Montane forest (B) Tropicall']"l'ég?'ly forest
(C) Tropical Evergreen forest (D) Littoral anql\ Syvamp forest
(E) mpted : e
REGH 'l;tu;g:o [umﬁane gﬁgﬁﬁﬂﬁ-{ﬁﬁﬁﬁﬁﬁﬂﬂ?fﬁﬂﬁwmﬁ) b
ﬁqﬁam@wﬁmﬂa - L)

() i g, (B) SRR iR o
(©) HeTaer a9 (D) @& azaaﬂa'«r
(E) aﬁaﬁam

Ris) @ e 19



99

100

101

102

103 .

104

The remains of Ganeshwar civilization are found at which place in Rajasthan?
(A) Bhilwara © (B) Neemka Thana
(C) Udaipur _ (D) Hanuman garh

(E) Question not atterpted

nﬁmw%mﬁwmﬁﬁmquﬁfﬁﬁv

(a) sfrearet ®) A
(© =T (D) FATE
(E) &uia s -

Who was the founder of the Chauhan Dynasty of Ranthambh ore?
Choose the most appropriate option from below

(A) Govind Raj (B) Hammir

(C) Prithviraj IIT (02 Veer Narayan
(E) Question not attempted

Wﬁ%%mw%maﬂ?ﬁ?

ﬁﬂﬂ%mﬁmﬁmaﬁ :

(A) TifdETS ‘ (B) TR

(©) TS - 1 (D) SRARE

(B) 3gdaiaTd

mﬁm‘tujﬁ-uﬁgﬁ%ﬁaﬁﬁq

A=ft-] (a3 aeteh] T1e2) w-nﬁ#mdﬁm
o ABRIDGE I SgHedT :
b. ANNEXURE- L H&YI
c. AMENDMENT 8 oI Eorih
APPROVAL v. @Eied

aﬁ%ﬁt{ﬂnﬁzﬁ?ﬁ ﬁﬁwﬁwmmﬂﬁm
@) a-Ib-ITe-
(C) a-I,b- IVcI]IdI \ @)
(B) g w4 ;

¢ Acknowledgement’ &l f&t waiat 'ETF'IT

() a-IV,b-1c-TLd-II
a-TLb-Mc-IV.d-1

(E) FIaRaw"

(A) TS _ (B) TET-STH
) ffm-sETRg © (@ fafu-fRg
(E) FgaRa s

s e T Wﬁq‘%‘f@ﬂﬁ‘ﬁ@wq—g%

(A (B) T

©@ ¥ : | (D) i

(E) SAgaid 94

R15] @) - | 20 | (PTO



105

106

107

10g

frefafaa 5 & sfa-siar wres gm 5 snef 2-

(A) FEL- 3T (B) 3fat - 3141
(c) - fewmr @ - it
(B) SAFHRANA
frefefad & s=reraTe g 3-
g , ® @ '-
@ 9 | (D) =9
(E) oFaka s
Match List-I with List-II :
List-I (Characters) i List-II (Contrasting Traits)
a Flower color. I Green/ yellow &
b Pod color Il.  Violet/white
c. _ 'Seed shape II. Round/wrinkled
d. Pod shape IV. Inflated/ constricted
T F O S AR |
2 () aeft-n (farieft om)
a. N U L e :
b. e @T . Sriare
c. HSAHR I, - 7 /3eR ,
d. el SR IV. el 5% /Rmdig

Choose the most appropriate answer from the oﬁtions given below:
F= feq g fareredt & & wafferes 3ugw S IFT:
(A) a-ILb-Tc-TV,d-TI _ B) a-Ib-Lc-M,d-IV
(@ a-Lb-Ic-NLd-IV ©O) a-Lb-Mc-1V,d-MI
(E) Question not attempted / ﬂ@ﬁﬂ' TH

The Thalassemia gene is present on
(A) XX of 23™ pair of chromosomes
(C)  an autosome |
(E)  Question not attempted _

st T Fqfer BT 8
(4) 233 TR S & XX
© T afe U (STER)

_ (B) XY of 23" pair of chromosomes
(D) “mitochondrial DNA

B) 233 TRTEE F XY
(D) WISEIHIT~gATE €T TH T

(E) w5 |
. Select the Francis Hary Compton Crick’s Ph. D. thesis title- _ ‘ -

(a) X-ray diffraction: polypeptides and proteins (B) X-ray diffraction: nucleic aClldS -

(©)  Transformation in Streptococcus pneumonia (D) Semiconservative DNA replication model

() Question not attempted

ey 26y e feh 3 e, € i 35 ¥ 1 < A q’;( : .

@) XX fedrar: diehiergs T8 T4 B XX ::,& % 'Eq' e

©) s SRIEwT AN (D) Ve fed € GT QTR Higet

®)  saf@w :
RJSI ) L | [ P.T.O.
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111

112

113

110 The literature which is engraved on inscriptions, coins and seals is called .~
Choose the most appropriate option from below: Lr';
(A) Folk €7} (B) Epigraphic %

§ - L
(C) Reblon:ﬁ - ) Traditional 3y
(E) Qucsuon nol attempted (&Y
a%’m%maﬁaqﬁﬁé? ﬁﬁwmmﬁﬁm% e et 2|
Foret 3 & wrard e forehe - s
w @ | (B} SNSEEET o
(C) & (D) T 1£5
() STgaia 4 ; g
Ly &
‘Languriya sox;g’; is related to which god/goddess? _ e
(A) Jeen Ma‘{;—, - (B) Kaila Devi 19}
(C) Khatu Sﬁyfam ; - (D) Shree Mahaveerg=i
(E) Questlon got attempted
e T e et e i 2 ' & -
(A) SforHET _ - (® iy
©) @EWff o S (D) g
®) o 5 &
' ' (l
What is the the,w“r?? of World TB Day-20241 13
(A) ‘Yes! Wie:¢an end TB’ = (B) ‘Investto End T.Bsave lives.’
(C) ‘Wanted-{lLeaders for a TB-frec world’ (D) “The Clock is Ticking’
(E) - Questi on Mﬁgot'attempted _
ﬁgﬁaﬁmﬁﬁmﬁaﬂzmﬁmﬂwmﬁmm%ﬂ IT;)
(A) ., ® Eﬁﬁ‘sﬁ?‘f ] WWM
(B) A EEFAF L, Sfid Gﬁﬁz@'é’ﬁ"f%ﬁ'm@
(©) =fer ﬁﬁ?ﬁﬁﬁ%ﬁﬁ%@%@ Fﬁsﬁqﬁttzﬁﬂ o) O
(D) q@ﬂﬁ%ﬁ%ﬁmsﬁﬁﬂ 5“;’?
(B) TR g > e
133
Keoladeo Nationél Park is located in which place of Rajasthan?
(A) Barmer (B) Bharatpur M
(C) Dholpury " , (b) Rajsamand @
(E) Questionmpt attempted (=
mmmmﬁ%ﬂww%%i [5)
@ R o ® T o
© dEE (D) TR .
() wrefeug -

RlS].Q e - 22

literature.
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114 Match List-I with List-II

List-I (Folk art) List-II (Material)

a Kavad I Paper

b Phad 1T Colour

c.  Paane III.  Cloth

d. Mandana v Wood
IR RN & gifers Hifme

TEI-1 (St wem) TEft-11 (FT=ai)

a EOEES L

b. %% H. O

c qe III. <9<t

d.  Hiear IV. oehel
Choose the most appropriate answer from the options given below:
e fow g et A § gaifas suge sowafu -
@) a-IV,b-T,c-1,d<11 (B) a-ILb-Lc-IV,d-II
© a-Lb-Mc-O,d-IV (D) a-IOLb-IV,c-II,d-I

(E)  Question not attempted / SAFaiRa 9%

115 Which of the following text is composed by Jambhoji?
(A) Mukam (B)  Vishnoi Dharmaprakash
(©)  Amavsya of Falgun (D)  Alakh Niranjan
(E) Question not attempted
e 5 & 9 ot T (Texe) s grr TR 29 “
A) "sm '*r"z -
(©) AHIEHIT ATE EIE :
(E) TTaia v
116 Who was the first person to call that region “Rajputana’, which is now known as Rajasthan?
(A)  George Abraham (B) George Thomas
(Q) George Alexander (D). George Tod
(E)  Question not attempted
w%ﬂﬂ%nmgmaﬁﬁa@ o Sfeh e O T8 37e TS et STray 27
(A) SISt 375men - B) S e
(C) e wraTer (D) isiaE
(E) omafauy
117 Which one of the following water bodies separates the Andaman Islands from the Nicobar Islands?
(A)  Gulf of Mannar By & leannel
(C)  10° Channel () Arabian sea
(B) " Question not attempted
3 & . rer P, mmﬂaﬁﬁﬁﬁmf‘“gawmﬁ
(A)  w=m o ey @ 5
©)  10° A= Py SRS
(E)  syafa uy

Ris) %) 23



= 'ﬁmmﬁmaﬁ 0
2 bl D D
(B) 18 h
C) 19 - (D) 20 e
(E) Quev,tmn nof aitempted / Fgat 9= Ty}
The executive powp:?é and functions of the Governor are: L
a. All excc:utwc actions of the Government of a state are formally taken in his name.
b. He cannot seek any information relating to the admmlstratlongof the affairs of the state and
proposals for legislation from the Ministers. i
c. He cahimake rules for more convenient transactions of the busm%gs of a State Government.
d. He appgints the Chief Minister and other Ministers. &3
Choose the most appropriate answer from the options given below: Efﬁ:i
(A) a,banddonly; (B) b,canddonly £
(C) a,candd only: (D) b, aandconly m
(E) Question not attempted i

eaaTe £ FE AT SR FH &
A TSy O T gt Sk SrEarie afrr=fiss §9 8 3 90 T aﬁl’r’_%l
b %w#mﬂmﬁmﬁﬂmwwém 3w & SR T A

%W%wﬁmaﬁmm%ﬁmﬁmmﬁl

o ..aﬁtmqﬁﬂ‘raﬁﬁgﬁaﬁ% &1
S fru T fehedt A5 i TG S ¢ ti;;
(A)_¥a<ia, b ATd . (® FEabcdd
oy Fda, 3L (D) FATb, a3 e
E) | .
120 Which one is the correct lens formula? i
(Here symbols hav&tpclr usual meaning) ¥s
ﬁﬂﬁ%%ﬂﬁruﬁﬁgaﬁ-—rm%o
(et et ot aTTa e T4 ®) o
1 _1 i 1IN0
W TV “u ¥
1 1 e
@ v © T=F-%

(E) Question not attempted 7 Bﬂ?lﬁ?f‘irﬂ

"y
121 Horizontal component of earth’s magnetic field at a place is 3.2 x 107 Te{@ and angle of dip is 60%. L
resultant intensity 61 garth’s magnetic field at the place is -

T T w3 & o
il ng‘ﬂ?ﬁﬂ F AT TeFm 3.2 % 10 S%W%aﬂtmaﬁm@ blwwm?;ﬁa;gmﬁ

(A) 3. 2 % 10-5 TO " o
(C) 6.4 %105 Tu B) L6x107T py

(D) 128x10°T
(E)  Question nows".mplud / i uy ? o
RIS| @) ~ 24 [ P.T0



122 Which mirror will show a wide area view?

(A) _Plane mirror (B) Concave mirror  ° !
(€) Convex mirrofi’y (D) Parabolic mirror ?‘éﬁi
(E)  Question not aftempted LS.
ferer s < <1 3 ST & fereTia ge e T B 2 <
(A) TS ﬁa:?rur o ®)  srgae = bk
©) 3w Oy T 3
(B) Fafayg O & B m
e m b '}
: i .
123 Which of the following statement is/are true?
a. Metal o‘)giiies are acidic in nature. “h’
b. Non-mg}aillic oxides are basic in nature ”3
Select the most apprapriate answer from given options: 3
(A) Onlys = (B) Bothaandb 5;
(C) Onlyb (&) ' (D) Neither anorb o
(E) _Question not 4ttémpted i
o o A e 3 i
a.  OIg 3 Hidaree, wEHh i st o 2
b.  IYIY % HTERE, Whia § AT B & oM
ﬁhwﬁwﬁﬁ&wﬁ%mwaﬁq: s
(A) E?—r a ) (B) 3rTastb L0
©) b o e
g . g Y e —1‘5{
P Oy
124 A greenish coating tha develops on copper utensils on being exposed to moist ﬁis due to the formation of
; Y :
(A) Copper oxide™ (B) Copper carbonate
(C) Copper sulphate (D) Copper nitrate 34
(E) Question not attempted i)
aﬁ%aﬁaﬁm_%ﬁqﬁt@&m S SR FW aﬁmm%mﬁﬁ%]
(A) & afmﬁ‘s'g o5
(C) HRTHE o (D) =T 0l
€) ogafasr 5 in

+

N s
125 Which of the following does not feature in writing a Notice? Choose the correct option.
i (B) Time, date and place

(%)  Signature
(C) Minutes of the meeting (D) Agenda of the meetﬁ%
(E) Question not attempted @
| - -
126  Choose the most ap}:gpriate word to complete the glVE.‘l.l sentence: e
I'was delighted the present you gave on my retirement. o8
(A) from g (B) about m
' ; &) (@) for -
(©) with

(E)  Question not atfempted
Ri15) @ v 25 e



27 Chobse'the most appropriate word from the options to complete the given sentence.
o ﬁe“spité her.'illn'e'ss, she insisted going to work as she had plenty of pending work.

(B) in

(C) for (D) to
(E) Question not attempted

128 Choose the most appropriate English word for the given word:

PIGSICE
(A) transgress (B) transcription
(C) transcontinental (D) transfigure

(E) Question not attempted

Read the passage carefully and answer the questions that follow:- (Q. 129 to 133)

Asthma is a respiratory disorder that we have known about for hundreds of years. However, there is
still no cure although drugs, such as steroids, and inhalers can alleviate the symptoms of an asthmatic attack,
and there is still no known cause. Worryingly, the number of people who suffer from asthma is increasing
rapidly. In some countries in the world the disease is becoming more like an epidemic.

Because of the huge increase in the number of cases in the last 30 years, there is a widespread feeling
that some kind of lifestyle change is to blame. Since asthma is a disease which impairs breathing, many
researchers have thought that a reduction in air quality might have caused the increase in it. However, it is
now thought that although the pollution in the atmosphere might exacerbate the condition, it is unlikely to be
the cause of it.

For a considerable time, household dust mites were thought to be a possible cause of the condition, but
atternpts to keep these to a minimum have not reduced the numbers of asthmatic sufferers. Far from it.

Now researchers are looking at diet to find the culprit. The period over which asthma has increased
dramatically in some countries coincides with a period when there have been major changes in diet in
countries which have seen the highest rates of increase. It was first thought that some kind of dietary allergy
might be a major factor.

At the moment, researchers looking for a dietary trigger for asthma are considering whether a lack of
antioxidants could be responsible. Their possible protective powers have been much discussed in connection
with other diseases. Now, doctors are wondering if a diet rich in things known to contain high levels of
antioxidants, such as fruit and vegetables, would prevent asthma, especially if such a diet was followed by
pregnant women.

Meanwhile, the schoolbags of more and more children contain an inhaler as well as books and
notebooks. Something atschool could trigger an attack and they must be prepared.

129 The use of steroids and inhalers for asthma is to:
(A)  Thealit (B) relieve it
(C) cureit (D) intensify it
(E) Question not attempted
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130 For a long time it was believed {ya¢ althou
it is unlikely to be the cause oft: ; o
(A) anunhealthy lifestyle (B) the poor air quality “'i
(C)  insufficient exefejse (D) wrong dietary habits ‘O
(E) Question not attg{]p[ed £

B

gh one of the following might exacerbate the condition (asthma),

131 Identify the statementey{lich focuses on the newest possible cause of asthmatic attaﬁglg.

(A) The pollution igithe atmosphere probably exacerbates the condition.

¥
(B) Household dust fiiites were thought to trigger the attack.
(C) - A diet deficienfin antioxidants may be responsible for the condition. )
- (D) Dietary allergies might be a major factor. T
(E)" Question not aftempted ' _ &
L ' - . 2
132 Which of the followiﬂ@s not likely to trigger an asthmatic attack? &
(A)  Cigarette smok ' ' (B) Dust mites N
(C)  Fruits and vegefables ‘ : (D)  Air pollution o 2 3
(E)  Question not at!t‘;;nlpted - '
: . = '
133 Match List-T with List-I A = i
List-I (Wards) - List-II (Antonyms) i
a alleviateld} | I assuage
b. impairs 2 i . - IL  aggravate
¢ . exacerbgte, " it I leisurely
d.  rapidly O T IV. repairs
Choose the most appropriate answer from the options given bel ow:
@) a-Lb-Mec-MLd-1v — ®) a-Ib-

- (C) a-III,b-IV,c{:ﬁI,d-]I

©) a-1V,b-Tec-1d-Tipy
(E)  Question not aftempted S e e
O | | &
134 What is the full formG#~EEPROM ' &
(A) Electronically Srasable i’rogrammablc Read - Only - Memory .ﬁ,{’?
(B) Electrically Erggible Programmable Read - Only - Memory *“3
(©)

Erasable Electric lly Process Read - Only - Memory

(D) Electrically Eras:;ble Programmable Read - Memory }
(B) " Question not attempted ; : :‘E
“EEPROM" T qU} £ 2: : : @
(A) W@Wﬁmmmm €
(B) Tl S sier fre Sireh ey 9
©) TmEe TFTehell U e el A _ 1N
(D) Ffagreh iy sirer frs feny v
(E)  afauy Tg)
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onal Space Day’ in India?
(B) 23 August
(D) 27 August

136 Blood groups in human population' is an example of___

(A) Co-dominance
(C) Pleiotropy

(E)  Question not attempted
e aEiE H T e
(A) EE- T

Find the incorr
(A) Elephanti
(C) Pneumor
(E) - Question no
P das g ad T
(A) =refgier (ufer

(E) SHuRayd _

138  Which one of the following is not a viral disea:sc?

(A) AIDS :
) - (B) Typhoid

(C) Dengue o S

(E)  Question not attempted . SHHEnzR

e 3 & 2 7 s formoy iy e vt 2

(A) TE(AIDS) -

© B mwe

. - ¥ ; DI
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139 Which one is not an initiative under *“Skill India Campaign”?
Choose the most appropriate option from below-
(A) Pradhan Mantri Kaushal Kendra
(C)  Skill Saathi Counselling Scheme

(E)  Question not attempted

‘ﬁmmm‘%mﬁmwﬁ%

: (Bl) ’: Pradhan Man‘ﬁ"iil'an. Arogya Yojna
i (Djs Industrial Training Institute

o 5 & wad Juge fyeey T _

(A) T e g (B) ST S ST ST
©) P At sat e (D) T sfRveror Seerr
(B) raia v

140  Which of the following is not a Rabj crop in Rajasthan?
(A) Wheat (B) Barley
(C) Mustard . (D) Rice
(E)  Question not attempted :
Wﬁﬁt{%ﬁgaﬁﬁﬁ}ﬁwqmﬁﬁ%?
) (B) s
© @@ (D) =dss
()  srpafe wa '

141 Where is the Public Service Commission of Rajasthan located? )
(A)  Ajmer , : (B)  Jaipur
(C)  Jodhpur : (D) Alwar
(E)  Question not attempted '
(A) T - - ®) wagE
©) SR , : (D) oTefET
(B) 7l vy :

142 Bywhich constitutional amendment, the Urban Local Self Government was given the status of a Constitutional
Institution? ; :
(A) 44" Constitutional Amendment (B)  74% Constitutional Amendment
(€) 73" Constitutional Amendment (D) 42™ Constitutional Amen dment
(E) " Question not attempted ' '
(A) 443 Tl vy (B) 7497 Tefies g
(©)  73at Tenfe weig (D) 4297 g3wurfes Geiae
E)  safayy

143

Panchayati Raj is a system of:

e .
Choose the most appropriate option from below:
(4) ' Local Government

(B)  Local Administration
(@) Local Self Government (D) Rural Local Self Goverament
(E)  Question not attempted
TAPT Tt we <hl sqaEIT B
Fefafa a4 aad gag e 33
(A) T g (B)  wurftr e
©)  Farg = ' (D) mtﬁwan:nqu
(B) wrqafwwg
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Japanese Constltutloni ¥ i

(E)  Question not attempted r

(B)

Directive Principles of State Policy’ in Indian Constltutmn was bo
rman Constitution

Irish Constitution ™)

(D) Ameri‘can Constitution é}

AT dferer  ger F Aify ﬁiwﬁ%@a’taﬁrmm

(A) i e ,_;
(C©) SUEFdEfEm i
(B) orafawy i

(B) mﬁﬂaﬁw i

Q
t}ﬁﬁné%[ ﬁ!

i e | T

M
The Rising Ra_lasthan Global Tnvestment Summit 2024 is being organised in ;"{E 3) -
i3 s
(A) Jodhpur (G (B) Ajmer L
(C) Bikaner €3 g; :
(E). Question not attemptei’gi i)
tsﬁwnwn@aamﬂeﬁzaﬁzzommmsﬁ ﬁ%mm‘w%‘b_ “’"’
(A) SR ®) TR o0
(©) = 7 (D) S @
(E)  ATERE A g o 1
e o -
' 146 Select a figure from amon%%ﬁthe options which will continue the series establis
figures. ‘ m ™
mmﬁwﬁﬁﬁwa@ﬁmmﬁﬁmmmﬁﬁmwﬁa%ﬁﬁm
Problem figures / TEIT AT cAT: )y
o—F— G
pd B
- 10y
i v
+V I v
(A ® | A ™
i P {7} : 44-—" L)
if3 0
Lo gi
6 i
£ — &)
: £ v
(E)  Question not attempied;/ SRAOR D]
R15] @ 30

hed By the four

rrowed from
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47 Amanis facing North - West. He turns 90° in the clockwise direction and then 135° in the anticlockwise
direction. Which direction is he facing now?

(A) East (B) South
(C) North (D) West
(E) Question not attempted _

& i 3 SoR-afE i Gﬁt.fl}ﬁ fera g2 R w8 3 fRorrerd femi(ariien g # 90° IR qeraT AT (G
) feamT 7 135° e @1 37 9% b T ff oy sy wrer 29

T (B) afdor
(C) =& (D) ufam
() IgaiEws

32 students are sitting in a row facing towards North. If Nehal is 14" from the left end then what is her
position from right end?

32 faemnff vt ot i T ot U fe 43 81 e SR 143 T R ) v o AR OR
TR

Aa) 17
© 19

@B 18

®) 20
(E)  Question not attempted / 3w i@ w21

Arrange the following words as per the English dictionary and find the second word:
S FToghIT 6 ST Frfefias wredt ot st ot STTCSRATTET 2T Y152 ohr e

charity, carton, caravan, card; gan
(A) Carton
(9] Charity

(E) " Question not attempted / ST wer

150 What number from the following options will come in place of ? in the 8iven series?

g Miﬁt{%{ﬁgﬁﬁwﬁﬁﬂﬁ?wﬁm? o T WX 3o
3, 15,35, 63,9, 143
& 125

(B) 81
© 75

(D) 99
(E)  Question not attempted / ST wer
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